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Determine the Y-parameters of the network shown 
below

Y-

h-parameters. 

Y- h-

attenuation to have a characteristic impedance of 
400W.

T-

400W 

6

OR

10.

V2
V1
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V2
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Time : 3Hrs.
Sem VI-EC/ECE

N/W and Lines

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Find the current through 5W resistance applying 
Norton's theorem for the network given below. 

5

constant of a transmission line. What is the 
relationship between them. 

6

OR

9.

4W8W

10W5W 4W 20V

A

B

4W8W

10W5W 4W 20V

A

B

P.T.O
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

GROUP - A

In fig-1 N represents sources and resistor, 
the value of different current I for different 
values of R is given below, I = 1A, R = 2 W,
I = 1.5 A, R = 1W the value of I when R is 
shorted is

 
(a) 0 A
(b) 0.5 A
(c) 2 A
(d) 3 A

N 

I = 1A, R = 2 

I = 1.5 A, R = 1W, R 

N4072

NIR 

Fig - 1

NIR 
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8.

Define and explain VSWR and reflection 
coefficient. Derive the relationship between them 

VSWR 

and Decibel. Mention it applications. 

load of 600W having cut-off frequency 3KHz.

OR

6

OR

3 1621404

(iii)

(iii)

(ii)

P.T.O

ABCD parameter is also known as
(a) Transmission line parameter
(b) Open circuit parameter
(c) Short circuit parameter
(d) h-parameter

characteristic impedance is given by 

 

T 

N4072

(ii)

ZOT = (ZOC . ZSC)
1
2

ZOT = (Z1Z2)
1
2

ZOT = (ZOC + ZSC)

ZOT = (Z1 + Z2)

(a) 

(b) 

(c) 

(d)

ZOT = (ZOC . ZSC)
1
2

ZOT = (Z1Z2)
1
2

ZOT = (ZOC + ZSC)

ZOT = (Z1 + Z2)
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                 GROUP  - C

7.

6

5 x 6 = 30
Answer all Five Questions.

A transmission line with a characteristic impedance 

of 300W is terminated by purely resistive load. The

minimum and maximum voltage upon it is 5mv and

7.5mv. Find the load resistance. 

P.T.O

4 1621404

(iv)

(v)

For symmetrical T attenuator, series arm
resistor R1 is given by
  
(a) 

(b) 

(c) 

(d) None of the above

The propagation constant of a transmission 
line is given by 

N4072

(iv)

R1 = 
R02N
N-1

R1 = 
R0(N-1)
N+1

R1 = 
R0.(N+1)

N-1

R1 = 
R02N
N-1

R1 = 
R0(N-1)
N+1

R1 = 
R0.(N+1)

N-1

Y = [(R+jwL)(G+jwC)]
1
2

Y = (R+jwL)
(G+jwC) [                 ]

1
2

Y = ÖL
C

(a) 

(b) 

(c) 

(d) None of the above

6W

2W4W
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Find Zoc , Zoc , Zsc  and Zsc  for the following1 2 1 2

T-network

 T- Zoc , Zoc , Zsc   
Zsc2

the following ckt

6.

4

a c

b d

3W 12W

6W

a c

b d

3W 12W

6W

OR

6W

2W 4W

5 1621404

(vii)

(vi) The primary line constant are

(a) R,L,C

(b) R,L,C,G

(c) Zo,Y

(d) Zo,R,L

(a) Z12 = Z21

(b) Z11 = Z22

(c) Y11 = Y22

(d) A = D

P.T.O

N4072

(v)

Y = [(R+jwL)(G+jwC)]
1
2

Y = (R+jwL)
(G+jwC)[                 ]

1
2

Y = Ö L
C

(vi)
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P.T.O
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4.The Z-parameters of a two port network are

Z11 = 40W , Z22 = 30W and Z12 = Z21 = 20W 
Determine the transmission parameter and write 
the necessary equations. 

Z = 40 , 

Z22 = 30W   Z12 = Z21 = 20W 

attenuators. 

voltage source.  

OR

5.

4

4

6 1621404

(viii)

(a) A = D

(b) AD-BC = 1

(c) Z12 = Z21

(d) Y12 = Y21

parallel, then 

(a) Z - parameters are added 

(b) Y - parameters are added 

(c) ABCD parameters are multiplied 

(d) H - parameters are added 

N4072

(ix)

(vii)

(viii)
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Answer all Five Questions.
5x4=20

2.

4

What is the function of active and passive elements
in electrical circuit ? 

Define and explain pass band and attenuation band.

of a transmission line.

between them.

OR

OR

4

3.

7 1621404

If Pi and Po be the input and output powers,
the attenuation N neper is defined as   

(a) 

(b) 

(c) 

(d) 

(x)

P.T.O

N4072

(ix)

(x)

Pi
PoÖ

Pi.PoÖ

Pi
Po

Po
Pi

Pi
PoÖ

Pi.PoÖ

Pi
Po

Po
Pi
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(xx)If the value of transmission line parameters
A, B, C and D are given, then Z11 and Z22 
are respectively given by 

(a) 

(b) 

(c) 

(d) 

(xx)

A
C

D
C

,

, AD-BC
C

AC

D
C

1
C

,

C
A

C
D

,

A
C

D
C

,

, AD-BC
C

AC

D
C

1
C

,

C
A

C
D

,

8 1621404

If the series and shunt arm elements are
       
                           and   

then the attenuator is                         
(a) Symmetrical T-attenuator 
(b) Symmetrical  p-attenuator 
(c) Lattice-attenuator 
(d) Bridged T-attenuator

In a lossless line, the propagation constant Y 
is given by 
(a) LC

(b) 

(c) 

(d) 

N4072

(xi)

(xi)

(xii)

R1 = R0N-1
N+1 (     )R2 = R0

2N
2

N+1 (      )

R1 = R0N-1
N+1 (     )R2 = R0

2N
2

N+1 (      )

L
C

jwÖLC

1
ÖLC
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By which of the following equations 
h-parameters are defined
(a) V1 = f1(I1,V2), I2 = f2(I1,V2)

(b) V1 = f1(V2,I2), I1 = f2(V2,I2)

(c) V1 = f1(V1,V2), I2 = f2(V1,V2)

(d) V1 = f1(I1,I2), V2 = f2(I1,I2)

h-

N4072

(xviii)

(xix)

(xix)

1
pÖLC

fc = 

1
4pÖLC

fc = 

fc = 
L
CÖ

fc = 
L
CÖ4p

p

9 1621404

P.T.O

N4072

(xii) Y

L
C

jwÖLC

1
ÖLC

(xiii)

(xiii)

For a lossless line Zo is 

(a) Capacitive 

(b) Inductive 

(c) Resistive 

(d) Complex 

In a low pass filter (LPF), the pass band 

extends from 

(a) Zero to cut-off

(b) Cut-off to infinity 

(c) Zero to infinity 

(d) None of these

(xiv)
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For two port passive networks Y12 and Y21

are always 
(a) +ve
(b) -ve
(c) Both (a) and (b)
(d) None of these

The value of cut-off frequency for high pass
filter is given by 

 

P.T.O

N4072

(xvi)

(xvii)

(xvii)

(xviii)

1
pÖLC

fc = 

1
4pÖLC

fc = 

fc = 
L
C Ö

fc = 
L
C Ö 4p

(a) 

(b) 

(c) 

(d)

p

10 1621404

An ideal current source must have  

(a) Series resistance 

(b) Shunt resistance

(c) Shunt resistance of infinite value 

(d) Series resistance of zero value 

(a) T-network

(b) p-network

(c) Ladder network 

(d) None of these

N4072

(xiv)

(xv)

(xv)

(xvi)
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network in terms of Y-parameter and determine 
Y-parameter. 

OR

***

211621404 N4072

network in terms of Y-parameter and determine 
Y-parameter. 

OR

***
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